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07/04/23 mttiigrt60092_35.ppp_defaut−994d−15_X−stp

1
Following steps removed:

60120.42535 : Step 1 −44500 ns

2

60120.42882 : Step 2 −77800 ns

3

60120.43229 : Step 3 −77800 ns

4

60120.43576 : Step 4 −77800 ns

5

60120.43924 : Step 5 −77800 ns

6

60120.44271 : Step 6 −77800 ns

7

60120.44618 : Step 7 922200 ns

8

60120.44965 : Step 8 −77800 ns

9

60120.45313 : Step 9 −77800 ns

10

60120.45660 : Step 10 −77800 ns
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303 s: Mdev= 0.49151E−11 Tdev= 859 ps
605 s: Mdev= 0.28625E−11 Tdev= 1000 ps
1210 s: Mdev= 0.23454E−11 Tdev= 1639 ps
2420 s: Mdev= 0.27651E−11 Tdev= 3864 ps
4841 s: Mdev= 0.33959E−11 Tdev= 9491 ps
9682 s: Mdev= 0.42582E−11 Tdev= 23802 ps
19363 s: Mdev= 0.56202E−11 Tdev= 62831 ps
38727 s: Mdev= 0.55203E−11 Tdev= 123430 ps
77453 s: Mdev= 0.43821E−11 Tdev= 195960 ps
154907 s: Mdev= 0.33221E−11 Tdev= 297110 ps
309813 s: Mdev= 0.18711E−11 Tdev= 334680 ps
619626 s: Mdev= 0.11486E−11 Tdev= 410900 ps
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